















































Anyway...  
Just make sure the representation and the equations are consistent  
$$\mathbf{v} = (v_x, v_y, v_z, \dot{\vartheta}, \dot{\varphi}, \dot{\psi}) \Rightarrow J_r$$
$$\mathbf{v} = (v_x, v_y, v_z, \mathbf{\omega}) \Rightarrow J_v$$



Having written  

$${}^{0}T_{i} = \begin{bmatrix} {}^{0}x_{i} & {}^{0}y_{i} & {}^{0}z_{i} & {}^{0}P_{i} \\ 0 & 0 & 0 & 1 \end{bmatrix}$$

$${}^{0}T_{i} = {}^{0}T_{1} {}^{1}T_{2} \cdots {}^{i-1}T_{i}$$
EA2006



























• Let's imagine we know all the parameters with a certain precision:  $\begin{aligned}
& \boldsymbol{\mu} = \mathcal{H}(\mathbf{q})\ddot{\mathbf{q}} + h(\mathbf{q},\dot{\mathbf{q}})\dot{\mathbf{q}} + g(\mathbf{q}) \\
& \boldsymbol{\mu} = \mathcal{H}(\mathbf{q})\mathbf{u} + h(\mathbf{q},\dot{\mathbf{q}})\dot{\mathbf{q}} + g(\mathbf{q}) \\
& \boldsymbol{\mu} = \mathcal{H}(\mathbf{q})\mathbf{u} + h(\mathbf{q},\dot{\mathbf{q}})\dot{\mathbf{q}} + g(\mathbf{q}) \\
& \boldsymbol{\mu} = \mathcal{H}(\mathbf{q})\mathbf{u} + h(\mathbf{q},\dot{\mathbf{q}})\dot{\mathbf{q}} + g(\mathbf{q}) \\
& \boldsymbol{\mu} = \mathbf{q}^* + k_d(\dot{\mathbf{q}}^* - \dot{\mathbf{q}}) + k_p(\mathbf{q}^* - \mathbf{q})
\end{aligned}$ 

